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1. Calculate mean and variance of the following data:

Class interval [0-20[20-40 [ 40-60 | 60- 80 | 80-100 | 100 -120 120-140
Frequency 2 3 5 10 3 5 2

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_aLRmOvXainmY
https://dl.doubtnut.com/l/_kEDaIWOPc59V

2. Calculate the mean, variance and standard deviation

for the following distribution:
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o Watch Video Solution

3. Find the mean for the following data:

Income
per day

0-100

100-200

200-300

300-400

400-500 | 500-600 | 600-700

700-800

Number
of persons

8

9

10

° Watch Video Solution



https://dl.doubtnut.com/l/_kEDaIWOPc59V
https://dl.doubtnut.com/l/_JSI61wiGKHYU

4. Find the mean and variance of the first n natural

numbers.

° Watch Video Solution

5. Find the mean and variance for the following

frequency distribution:

TTOE TT T TTTTUM Y AL & R R EWFRR

Classes  (0-30|30-60 (60-90 | 90-120 | 120-150 | 150-180 | 180-210
Frequencies| 2 3 5 10 3 5 2

° Watch Video Solution

6. Find the mean, variance and standard deviation

using short cut method:


https://dl.doubtnut.com/l/_6psgEp9OWe4T
https://dl.doubtnut.com/l/_Eyibg5iNp3rO
https://dl.doubtnut.com/l/_G8oz0IxJLXhL
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o Watch Video Solution

7. The mean and standard deviation of 20 observations
are found to be 10 and 2 respectively. On rechecking, it
was found that an observation 8 was incorrect.
Calculate the correct mean and standard deviation if

wrong item is omitted.

° Watch Video Solution



https://dl.doubtnut.com/l/_G8oz0IxJLXhL
https://dl.doubtnut.com/l/_fHlNXnyQvbTx

8. The mean and standard deviation of 20 observations
are found to be 10 and 2 respectively. On rechecking, it
was found that an observation 8 was incorrect.
Calculate the correct mean and standard deviations in
each of the following cases:

If it is replaced by 12.

° Watch Video Solution

9. The mean and variance of 8 observation are 9 and
9.25 respectively. If six of the observations are 6, 7, 10,

12,12 and 13, find the remaining two observations.

° Watch Video Solution



https://dl.doubtnut.com/l/_GSmw5S9oFlsa
https://dl.doubtnut.com/l/_L1QGpFjAH3Xy

10. The mean and standard deviation of a group of 100
observations were found to be 20 and 3 respectively.
Later on it was found that three observations were
incorrect, which were recorded as 21, 21 and 18. Find
the mean and standard deviation if the incorrect

observations were omitted.

o Watch Video Solution

1. The sum and sum of squares corresponding to
length x (in cm) and weight y (in plant products are

given below:


https://dl.doubtnut.com/l/_L1QGpFjAH3Xy
https://dl.doubtnut.com/l/_ZSSSydhwsBaq
https://dl.doubtnut.com/l/_P0gGCurSVrUc

50 50 50 50
'§1mi = 212, §1m’2 = 902.8, ?1% = 261, E]lyf = 1457.6

Which is more varying, the lengths or weight?

o Watch Video Solution



https://dl.doubtnut.com/l/_P0gGCurSVrUc

